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Sr Questions Answers Choice

1 The boy fails because he is following a direction, mapped out by his......
A. parents
B. Sisters
C. Brothers
D. Friends

2 A common cause of failure is a............................... ambition for the boy on the part of his
parents.

A. Good
B. upright
C. Mistaken
D. Bonafide

3 The boy must take himself by the collar and make himself .......... a poise and calm.
A. Leave
B. give up
C. Cultivate
D. Uproot

4 Such ........ habits are not easy to uproot.
A. Nervous
B. Impressive
C. Attractive
D. Serious

5 He .............. that all his pencils need sharpening.
A. Hides
B. Tells
C. Observes
D. Impressive

6 "I think that I had better............... my pencil"
A. Sharpen
B. Broken
C. Soften
D. Darken

7 They really have the native ability................. to do so but find it almost impossible to sit at a
desk and ................ on the tasks assigned.

A. create
B. cooperate
C. concentrate
D. incinerate

8 Many boys attempt............. to make good.
A. Uselessly
B. Baselessly
C. Non seriously
D. Seriously

9 The boys who fall to get through, there are.................. main classes.
A. Two
B. Three
C. Four
D. Five

10 Of the boys who do not reach their natural.......... boundary.
A. Professional
B. Academic
C. Curriculum
D. Technical

11 He prefers coffee than tea.
A. He prefers coffee for tea
B. He prefer coffee than tea
C. He prefers coffee from tea
D. He prefers coffee to tea

12 He told me that he is a lawyer
A. He told to me that he is a lawyer
B. He told me that he as a lawyer
C. He told me that he is lawyer
D. He told me he is a lawyer

13 Higher you go, cooler it is
A. The higher you go, the cooler it is.
B. the higher you go, cooler it is
C. Higher you go, the cooler it is
D. The high you go, the cool it is

14 He was knocking the door

A. He was knocking upon the door

B. He was knocking at the door
C. He was knocking by the door
D. He was knocking on the door

15 My father's hairs are grey.
A. My father hair are grey
B. My fathers hair are grey
C. My father's hair is grey
D. My father's hairs is grey



16 I condoled ........... him on his father 's death.
A. at
B. with
C. of
D. by

17 I can not agree........ your proposal
A. With
B. at
C. to
D. on

18 I have great confidence....... my friend
A. in
B. of
C. for
D. on

19 This house belongs.......... my sister.
A. of
B. on
C. to
D. with

20 He could not part ............. his belongings.
A. From
B. of
C. by
D. with


